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github Y= E=

1. githubOl oslp SZFAI M E BT X|EE| 88 & =4
B Al

cd (Bfer C|EER)
git init

git config --global user.email “(7t &t HIYF L)
®)

git config --global user.name “(7t 8t | X{U|

glt add . OI IorlganI (/?AIEI-_,

39
A4 Oy 3 7

git commit —m “(Zr 304 CHst A
git remote add (origin) (OF7F S AEH BITHX|E 2| F=4)

git push (origin) master
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« =& EA41N

printf()2} scanf()2 2712 A+& L=
2l2qdkof ofZi ! B2E

o AolsflofF sl= T double aver-

! age(double in1, double in2) \

MNE2A Xo| 3t4E OrS 04 A double& 2| =& mainoi|
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. AFBRF &O| B 47

e main & 2|0 AF2 X7 AT

« argument(TE 2K}

int main() {
int a, b;
int result;
result=sum(a,b);

« parameter (O 7HE4)

int sum (int par1, int par2) {

int answer;
answer = par1+par2
return(answer);
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e Ab2H

- main 3'3 tof  #incldue<stdio.h> (main &= of| Mot e
x: oH| 3 4491 £lof  double calculate (int WEFO|E]1, int MEHOIE2); w ynjzze 2oixAl2)
Ol 2!

int main() {

result = calculate (O} HE1, O} #HED2)

- maing =0l 88 double calculate (int Zt2tO|E{1, int TH2}O|E{2) {
g Cllo|E Ef

return(result) ;
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#include<stdio.h>
double average (double I}2}0|E{1, double Z}2+0|E{2);

int main() {

1. &l a 7|

2 Al p ©l2qut7| 5
y 3. 4% a,bE average & 0 'F_X=I—.—7I\»
N 6 average &0l HEH2 7t E85l7] S o

double average(double T+2}O|E{1, double T+2HOIE2) { "€
4. double I} 2} 0|E{13} double Zt2tO|E] 22| W 751 7|
5. TEE WU maing =2 HHErsliF 7|
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#include<stdio.h>
double average (double arg 1, double arg 2)f
double avg:;

int main () {
double num 1, num 2;

printf (" © w T
scanf ("$1f", &num 1);
printf ("% ® W & =+
scanf ("$1f", &num 2);

avg=averade (num 1, num 2);

printf("f & $£ 9 = & g2 %1f ¢ 4 ct. \n", avqg):;

}

double average (double arg 1, double arg 2){
avg = (arg l+arg 2)/2;

return (avg) ;
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X 2LH..? 51i=2434855564
« AHEH 1=300
#include<stdio.h> *p=300
int main() { p=24348
ZOIE EFelT} int i =300;
B ElQl2 <int *p = &i; /13 Z=7|3HE SHF oF sl !

2 x| 5Hok5H 2!

printf(“&i=%u\n”, &i);
printf(“i=%d\n”, i);

printf (“*p=%d\n”, *p);
printf(“p=%u\n”, p);
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e X Ol E..7?
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* *p++ vs ("p)++

Software Dept., Sangmyung University 15



Q2

. M7

#include<stdio.h>

int main() {
1. M S QI He MO

2. for2 (10007+X| &24)1
3. L2 &7IA|7]7]
4. ot E=517|

5.1070 23§ Al 7| 4l
}
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¥include<stdio.h>
int main () {
int i=0, j, k:
int *pi=&1;

=W N

&y

6
7

for (j=1; 3<=1000;
(*pl) ++;
printf ("%d
1f (7%10==0)
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printf ("\n");
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: void swap(int *pa,

A-Ext Ho| g0l M H &
1 23l oF 5t =L L}

\

O|A2N 1 fHE swap &=

22t 2 W= o| Of|0|E El 2 intFol|Z!
main&ro| Al &J238to} ofFHEZ =740k
Zidin

voidd QlAE L] gkt gizlof!
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e SWap & T
— AN o
* T H|_=|-r9| Z/ICE
= f&s =g

. temp B¢

MEZE Wwetstod =0 EHMHo 2 0|8 L

« A HH=01 100, B B404 2000| AE E[0{Q/E [, 1002 BE, 2002

AR 277 &I A

_ AN 1L
S oAl Ha Ee

- QXMoo Z 0| YA| H4+E temporary0ll M & temp B2k MO4E

(temp) (temp)
A B A A B A A B
[100] [200]—»[  ][100][200]=[200][ |[100}
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« 170|.. 2l void swapO|%E..? maing =0l Aotz
Ht 35l of 51 = A o}L—I7}O’> OO swap & =04 A
47t

* int *pa, int *pb
« IQIEHZE MZ57| HF ol BtE+SHX| @

10t swap®f+ S22 S Al
o oDl HP"‘FIN?AS

A
swap g4  swap B
5=~ & temp=*a *a="*b
Swap2 S Swap2 S Swap2 S

main A=

temp
b

a

main A=

temp

temp
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#include<stdio.h>
void swap(int *pa, int *pb)

int main() {

1. 5 H 7| (F2 x1™H357])
2.swap ™ QB2 £ He E8
3.swap &0 Ol HER 7‘._'%
6.swap B4 212 # £ #4 &

}

void swap(int *pa, int *pb)
4. temp == 440
5. swap
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1 #include<stdio.h>
2 void swap (int *pa, int *pb);

int main () {
int a,b;

printf("adl 9 2 H % Qs Ha ");
scanf ("%sd", :
printf ("bol &€ & ¥ # YA Ma ")

scanf ("%sd",
printf ("\nswap : a=%d, b=%d\n\n",a,b):
swap (&a, &b) ;

printf ("swap & : a=%d, b=%d\n\n",a,b):

volid swap (int
int temp;

* QuIZ!!
temp=*pa; otz giZtoll= F0

*pa:*pb;
*pb=temp; §O'|7I'Ol:ﬂ'77l'277

printf ("swapZl ( swapd + ¢ T b=%d\n\n", -);
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4. th39 "WEId AAF 2o o7E
GDB = o]-&35f sjdstal, AHE-3d GDB 3
8/8H8 AATEY FAHO0E Yo Q.

« =X

# include <stdio.h>

int main()

i
int i, num, j;
printf ("Enter the number: ");
scanf ("%d", &num );

for (i1=1; i1<num; 1++)
J=1*1;

printf("The factorial of %d is %d\n",num,3);

O
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T 4 theo] #AEag AN x2ado 9fE
GDB = o]83] s ds}al, AHE-3ld GDB 9§

B
F/RE EATE FA0R YO

# include <stdio.h>

int main()

{
int i, num, j;
9—||A=|£c|>_|§1 printf 'E"Efl'lltEr" the |:|urnher; "y
scanf ("%d", &num );
: nuMO| ACHE U E| L} ey
9—||A=|£o|_|§2 for (1=1l; i1<num; 1++)

- i7F MICHE A E|ALE — j=3*i;

/ intf("The factorial of s kdn” 13
9—||A=|£O|_IE3 printf( e factorial of %d 1 n",num,j;

. j7F Mo 2 2l =|QiL }
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» gdb HZI0]

- Zm: gcc —g —o (AT UY) (cTtUH.c)

« A E =0l [ist

B R -

- HY|0[m7 X QIE M™H: b (BI2IEHH)

« HYO|ZXOQIE K| AlSH: ¢

. C}2 2 0|2 ZQIENK| AlSH: ¢
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Q4

o A 7=|| O | 7< A—I 7|

1. #|nclude<std|o.h> Mist2 ZE 102 =Cl.b7,b9,b100|F r2 T2 3 AIJM
2

3. int main() {

4. inti, num, j;

5. printf("Enter the number: “);

6. scanf(“%d”, &num);  //num B 23 2OlE 2|5l line 70/ EE{|0|2 XQIE. b7

/18350, num, j &2l pi, pnum, pj.
O|% c2 C}Z Eel|o|2 X IEN K| EI-Y

T.

8. for(i=1; i<num; i++) //i i—.“PJ% 2|3l line 904 EB0|3ZQIE. b 9
// num, | &2l pi,pnum, pj. O|& cZ CIS Edi0|3
iO|E77|-x| Xl_éH

9. =1 /17 #4212 25l line 90 ERI0|ZZQIE. b 10
/1934 i, num, j QL. pi, pnum, pj. O|F cZ C}& EE||o|a
;\tO|E77|-X| x| 3

10.

11. printf(“The factorial of %d is %d\n”, num, j);

12.}
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gdb) 1list

(gdb)

r
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1 #include<stdio.h>

2

3 int main () {

4 int i, num, 7J;

5 printf ("Enter the number: ");
6 scanft ("sd", &num) ;

.

8 for (i=1; i<num; 1i++)

9 J=7*1;

10

(gdb) b 7

Breakpoint 1 at 0x75a: file gd4.c, line 7.
(gdb) b 9

Breakpoint 2 at 0x763: file gd4.c, line 9.
(gdb) b 10

Breakpoint 3 at 0x779: file gd4.c, line 10.



Breakpoint 2, main () at g4.c:9
9 J=J*1;

(gdb) p 1

sS4 =1

(gdb) p num

S5 = 3

(gdb) p J

S6 = 32767

(gdb) c

Continuing.

Breakpoint 2, main () at g4.c:9
9 J=3*1;

(gdb) p i

$T = 2

(gdb) p num

$8 = 3

(gdb) p J

$9 = 32767

(gdb) c

Continuing.

Breakpoint 3, main () at g4.c:11
printf ("The factorial of %d is %d\n", num, Jj);
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* p6, p8

e https://|nilbo.com/2019/02/11/2019021117440779722/\
* p12

* https://m.blog.naver.com/PostView.nhn?blogld=ansrud0995&IlogNo
=220913308666&proxyReferer=https%3A%2F %2Fwww.google.co
m%2F

*p13

« MSETA, 2012, +FLE E7]= c10{ E2ME, N 9% ZQIE
* P22

* http://ehpub.co.kr/tag/%EB%91%90-%EA%B0%9C%EC%9D %98-
%EB%B3%80%EC%88%98%EC%9D%98-
%EA%BO0%92%EC%9D %84-
%EB%B0%94%EA%BE%B8%EA%B8%B0/
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